
SYLLABUS. BLUE PRINT OF QUESTION. DISTRIBUTION OF MARKS

CLASS - Xl, SUBJECT : EDUCATION, HALF YEARLY EXAMINATION
ACADEMTC SESSION - 2023 -24

\5F01'{ ,qSF Rtr<E MCQ
1 mark

VSA

1 mark
SA-I

2 mark
sA-il

3 mark
LA-I

4 mark
LA-II

5 mark
Total
Mark

No of Period

?tqm qxTEB f"m Afffi{
{Rt"tl

flqE ..{$T8

frfrT ..q$?FB

yqr eFFB

Eyd ,{sFB

FN'K qd, {r{ql sTF

FmK TrE, 'tRR

FNIa E"[qT{

Fte-t< qsr

Lx2=2 1x3=3 2x2=4 3x1=3 4x2=8 20 20

ffirq{rm ffi{
?t<Flffi q<e. q(q )[{q

EqN qT?F3

frft,{T<'B

yfi* qrrB

D-yd €TTs

f-rsK qqEIB F{-{fti\o f{mr e \fl<
{(q
qffi Fml s \5K qqq

fr-qr@yffi e strqqqt

TilatuFwls1oFNt
qrqr To Rryre-{ s IP R"JMtq{

1x2=2 !x2=2 2x1=2 3x1=3 4x2=8 5xl-=5 22 22

yqr wfllra Fmr e
)NTE

frqlI qs$E

frfrTqrrg

S*,q$?m

ugd ,qrr:

fiq.t € qrre--{ {E"Ff

Fml s q]Tr&-s qR<-6{

Ftqt € Rmrt

TNIRT UT R{rfr( qqf s {K.tt

1x3=3 1x3=3 2xl=2 3x1=3 4x2=8 L9 L9

DY-t w0E3 $tDH X{,
q<r T{,q<( a'lT.ErfrNf

"rc( sFrET Ftsl

eqFI ..{S?FB

mf,{ ,{$?FB

pG{ qsFB

ursd qrrg

?ltH{ st<cg{ <rq{r Fmt, ffiqfffi

n<lTut sl<t\r{ FrqFI

>t;m qe{ (:u )e), Ecs<

rs{'l]lD (:uaa)
qffiK +f,'fi ( :ut'1.-tr,c)

1x3=3 1x2=2 2x]-=2 3x1=3 4xL=4 5xL=5 19 19

No of Question 10 10 5 4 7 2 80
Marks

80 Periods

Total No" of Question = 38

Other than MCQ, marks are related to maximum no of words e.g. 1 mark there would be one word
or one sentence; for 2 marks 20 words; 3 marks 50 words;4 marks 80 words; 5 marks 120 words.
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